DATE

UTILITY NOTES

R R V! | USE 17 GA. SELF FURRED WIRE LATH
AR - 1/2" PIPE N.P.T. COMPRESSION SUPPLY LINE STOP PROTRUDING 1" FROM .
FLOOR OR WALL, SUPPLIED AND INSTALLED BY CONTRACTOR. INTERIOR DRYWALL FINISH : "
AR PRESSURE 80-100 P.SJ. AR PLUMBING SHOULD BE FLUSHED CLEAN ~ Z@H i%%?&gggsg Ag;% % S
BEFORE MAKING FINAL CONNECTIONS TO DENTAL EQUIPMENT. :’:‘; LS:_A FTlI%E'fGLAﬁPSS BATT - g
S ' " STEEL COLUMN, SEE i
WATER -  1/2" PIPE N.P.T. COMPRESSION SUPPLY LINE STOP PROTRUDING 1" FROM ;2{3,%RA?,T,§¢'P~°(',1§A}“(,'§° FOUNDATION PLAN ©
FLOOR OR WALL, SUPPLIED AND INSTALLED BY CONTRACTOR. 6" P.TDF. PL. w/ 12" AB. - REQUIREMENTS
WATER PRESSURE 40 -80 P.S.l. SIZE1&"SPA§!!1(S; PEELF%&SEEQN 6 x 6 POST IN WALL TO SUPPORT . BEARING PLATE w/ S
WATER PLUMBING SHOULD BE FLUSHED CLEAN BEFORE MAKING w/ /4 x 3" s ROOF BEAM, SEE FRAMING PLAN . 1/4 (4) ANCHOR BOLTS z
FINAL CONNECTIONS TO DENTAL EQUIPMENT. POST TO BEAR ON PLATE $ SEE FOUNDATION PLAN
CONC. FLOOR SLAB, SEE FDN. — 1 — #3 BAR CONT. AT &
ELECTRICAL — 1/2" CONDUIT AND BOX WITH QUAD RO EQUAL RECEPTACLE 1/8" SAWCUT x 1/4 SLAB —— CONCRETE FLOOR SLAB, SEE PLAN FOR THICKNESS & REINF. pER,,fETER, vy MINIMUM 1-1/2" CONC. FLOOR SLAB, SEE FDN. J / \\
SUPPLIED BY CONTRACTOR. WIRE BOX AS PER CODE. THK. "SOFF—CUT WITHIN" FDN. PLAN FOR THICKNESS NON-SHRINK GROUT PLAN FOR THICKNESS & REINF.
VOLTAGE 110 — 3 WIRE 4 HOURS OF POUR o AND REINFORCING FINISH SURFACE —— = c D
o . 2 6" TYP. ——
¢ E - —
VACUUM -  PLUMBING UP TO UTILITY CENTER SHOULD BE SPECIFIED BY _ __ _ v R | , Rl =y | _FINISH FLOGR . <. 4 s _ _ = z o
CENTRAL VACUUM SUPPLIER AND TERMINATED IN UTILITY CENTER —— N I — = —o m— T o = = | . \Wf ' 2 v ' i 0 —
WTH 1/2" HARD COPPER PERPENDICULAR TO FLOOR, SIMILAR TO DRAIN = O A L A A b TN C cowyont | 7/8' WEEP SCREED ¥ = % 5 e O WONT | L - AT —TT—=TT—r—=" D: N
CONNECTION. e L BT Y il el el - SHIESH o | =|I=lI=& o —
H & e e = . g (0, ) [5) U:M:M:M:ﬂzm ) BN 4., [ ”” |||| ”l |||<_<J m |
E=EEEEENTED 5 S B = E=NENENEES = - PN
T=EIEIENETE" &< g i =4 - ' ©
DRAIN —  1-1/2" NOMINAL PIPE PROTRUDING 1” FROM FINISHED FLOOR OR WALL === == N|< A A w & BLOCKOUT I:-l-_'l < &
NOTE” PLACE TRAP IN LINE TO CONFORM WITH LOCAL CODES. SAND BASE OVER PLASTIC j’ 5 ) \ ’ ' | ’ ' :cla Eg J 5 ; o —
SUPPLIED BY CONTRACTOR. VAPOR BARRIER, SEE FDN. N & 2 s A g - =g o 2 2 o o 2| <
PLAN FOR LOCATIONS N el v =N —_ >~
- N - 4 =
CONTROL JOINT = (_') 5
LOCATE CONTROL JOINTS PER PLAN S
SEE FOUNDATION PLAN REINFORCING, SEE E— REINFORCING, SEE — z —
FOOTING SCHEDULE FOOTING SCHEDULE
SEE FOUNDATION PLAN SEE FOUNDATION PLAN EI':' y
<<
NOTE: CENTER LINE OF &
WALL = CENTER LINE OF >"
FOUNDATION, TYP. H g
' o)
— 39
1 <( N
CONCRETE SLAB JOINTS 7 PAD FTG. AT EXTERIOR WALL 4 STEEL COLUMN TO PAD FOOTING 1 A “w
O
3/4" PLYWOOD COVER w/—— CONCRETE FLOOR z oS
FLOORING TO MATCH o
X | USE 17 GA. SELF FURRED WRE LATH <:: 2
; ¥ < ALUMINUM STOREFRONT SYSTEM n::

SEE EXTERIOR ELEVATIONS

| USE 17 GA. SELF FURRED WIRE LATH

< 2 x 6 P.T.D.F. NOTCHED
A} TOP FOR RECESSED
3/4" PLYWOOD COVER .
INTERIOR DRYWALL FINISH 7/8" STUCCO FINISH OVER INTERIOR DRYWALL FINISH : 7/8% STUGCO FINISH OVER
R-19 FIBERGLASS BATT . LATH & MOISTURE BARRIER R—19 FIBERGLASS BATT C LATH & MOISTURE BARRIER
INSULATION, TYP. INSULATION, TYP. i
%.EAR SIZE: UTILIMIES THRU BOTTOM 15/32" STR. | SHEATHING 15/32" STR. | SHEATHING <
"x 7 SEE FRAMING PLAN FOR SEE FRAMING PLAN FOR P&
ISOMETRIC VIEW SECTION 3 x 6 P.TDF. PL w/ 12* AB. ——— REQUIREMENTS < ALUMINUM STOREFRONT SYSTEM 6" P.T.DF. PL w/ 12* AB. — REQUIREMENTS N
—_— — SIZE & SPACING PER FDN. PLAN SEE EXTERIOR ELEVATIONS SIZE & SPACING PER FDN. PLAN o
w/ 1/4' x 3" SQ. PL. WASHER 2 x 6 STUDS AT 16" O.C. . . w/ 1/4" x 3" SQ. PL. WASHER 2 x 6 STUDS AT 16" 0O.C. . 25
TYP. UN.O. ° © TYP. UN.O. =
CONC. FLOOR SLAB, SEE FDN. ——— 1 — #3 BAR CONT. AT & CONC. FLOOR SLAB, SEE FDN. ——— 1 — #3 BAR CONT. AT & CONC. FLOOR SLAB, SEE FDN. ——— 1 — #3 BAR CONT. AT €
PLAN FOR THICKNESS & REINF. PERIMETER, TYP. PLAN FOR THICKNESS & REINF. PERIMETER, TYP. PLAN FOR THICKNESS & REINF. PERIMETER, TYP.
FINISH SURFACE —— o CONC. WALK ——— FINISH SURFACE —— »
7] a H 172]
| & FINISH FLOOR _ =3 | ~_FINISH FLOOR ] | =y | FINISH FLOOR _ =
L : o - T~ o P — g i L 4 o ' () -o—-—r——"— - . S : I L : ') ' T o ° P — g I
—N\__COlD JONT 7/8" WEEP SCREED ; ) T\ 00D JONT '—||||—||||—||||—||||—||||— — ) P N\ COLD JONT 7/8" WEEP SCREED ; 5
'IIII IIII IIII IIII - . P T T T T T - J =TT 1=} —F. |_||||_||||_||||_||||_|||| S :u 'IIII—IIII—IIII—IIII—II - N =TT T T — — J
. ,—IIII—M—M_IIII: f’ = lEMEMEMEMEM ] SEENEIE f ={a FT=TI=T=T=IT= RE EEEEE f’ o UEMEMEMEMEM )
> [N | | RS EIEI=I= % SIS R = I R F-T= ST &
°' nﬂmﬂﬁﬂﬁﬂﬁ | L #4 SLAB DOWELS AT 18" 0.C. . “ ﬁﬂﬁﬂﬁﬂﬁﬂﬁ | L= {#4 SLAB DOWELS AT 18" 0.C. . “ 5 ||MMMMMMMW | L= #4 SLAB DOWELS AT 18" 0.C. NEE
el e IE]] R P 18" x 18", TYP. 5 el IS IE]] R P 18" x 18", TYP. v 3 SIS : 18" x 18", TYP. 5| 3=
ST A T i - |, ¥ « SIE=IH o | - 7| 2=
NEIE ==* - = ==* - _ == = ﬁ'ﬁ
THIS END TOWARD
CHAR BASE SARS, CONT. 105 borTon SARS, GONY. T & borT SARS, GONT. 1054 boain
w/ #3 TIES AT 24" 0.C. w/ #3 TIES AT 24" 0.C. w/ #3 TIES AT 24" 0.C.
C.L 1’-6" 1:_611 1:_611
[ A
/ N NOTE: CENTER LINE OF NOTE: CENTER LINE OF NOTE: CENTER LINE OF
4 2 WALL = CENTER LINE OF WALL = CENTER LINE OF WALL = CENTER LINE OF
FOUNDATION, TYP. FOUNDATION, TYP. FOUNDATION, TYP.
mn
(e}
5 1/4" Te!
/ CONT. FTG. BELOW WINDOWS 8 CONT. FTG. AT STOREFRONT 5 CONT. FTG. AT SHEAR WALL 2 U) o
7ll
2 2-0" o Q’ S
1-0" r-on 2 7 7 | USE 17 GA. SELF FURRED WRE LATH | v
9 3/4" ¢
| USE 17 GA. SELF FURRED WRE LATH USE 17 GA. SELF FURRED WRE LATH | - / ~l<— CULTURED STONE VENEER o/ LATH & Q <§(
o A T It MOISTURE BARRIER, SEE EXT. ELEV. Q
VACULM I Z{TH i%%?gTS'R'gSSAg;% <———— CULTURED STONE VENEER o/ LATH & 15/32" STR. | SHEATHING .. -
: | L .
X INTERIOR DRYWALL FINISH INTERIOR DRYWALL FINISH 1 MOISTURE BARRIER, SEE EXT. ELEV. - = gEgUfRRéMM&%PLAN FOR § m =
525 0. Tubing DRAIN < 15/32" STR. | SHEATHING 15/32" STR. | SHEATHING 6 x 6 POST IN WALL ON = B o
For Centra " Nomind Pips R-19 FIBERGLASS BATT g SEE FRAMING PLAN FOR R-19 FIBERGLASS BATT SEE FRAMING PLAN FOR SILL PLATE WHERE OCCURS B L <
ey e ror oty INSULATION, TYP. ~ REQUIREMENTS INSULATION, TYP. B REQUIREMENTS SEE FRAMING PLAN - = 2 % 6 STUDS AT 16" 0.C. s O S
cL : : : ~ cL o ~ - o
I 11 21 /4" l ] [ L O
) ; 2 x 6 STUDS AT 16" O.C. " 2 x 6 STUDS AT 16" O.C. 2 x 6 P.TDF. PL w/ 1/2" x 10" AB. o T
QUAD ELECTRICAL BOX 6" P.TD.F. PL. w/ 12" AB. 3 x 6 P.TDF. PL w/ 12" AB.
SUPPUED BT CONTRACTOR . y SIZE & SPACING PER FDN. PLAN TYP. UNO. SIZE & SPACING PER FDN. PLAN T TYP. UN.O. - = glIJNT &?A)S:ER?SPLQE W/ STANDARD _ : | : =
W/ /4 x 3" SQ. PL. WASHER 2 x 6 P.TDF. PL w/ 1/2" x 10" AB. W/ 1/4 x 3" SQ. PL WASHER - 2 x 6 P.TDF. PL w/ 1/2" x 10" AB. 3/4" CHAMFER, TYP. - ~ < X
ELECTRICAL MIN. (2) PER PLATE w/ STANDARD » MIN. (2) PER PLATE w/ STANDARD I B —— (3) #4 TIES AT TOP 5" OF FOOTING S -
3/4" —>l - CONC. FLOOR SLAB, SEE FON. CUT WASHERS, TYP. CONC. FLOOR SLAB, SEE FDN. B CUT WASHERS, TYP. EXTERIOR SDEWALK. SEE i o | ©
f\ PLAN FOR THICKNESS & REINF. /' 4 "U" BAR, EXTENDED 24" INTO PLAN FOR THICKNESS & REINF. j — #4 "U" BAR, EXTENDED 24" INTO SITE PLAN ' ] / L) pd
| T o0R SLAS, TP, FLOOR SLAB, TYP. 7/8" WEEP SCREED, TYP & o
g - . g : @) O
NP /I : r : S g
\J B 9 = = 4 5 g (Co]
| 7{ FINISH FLOOR < | T _FINISH FLOOR A N FINISH_FLOOR (e i o = B4 = 3
2" CONDUIT C . = — ] 2 C . | P Z i — ‘Tl T ; o <:: N
RNATER wcomuont [§ T 7/8" WEEP SCREED 5 S -'”.' z co Jont || : o & ”|||||””|u|”” - = = o "
H || |||| |1 | . R I 4 = M=—I=I=1{" . N L T ~ 2 —||||= 2 I ' —||||=
: O o3 == : I (3R [T T [ A ”lumnuw
Q mmMﬁMﬁHHmH o Lo === 2 mﬁ””ﬁmﬁ””ﬁ” | Lo —=llI= . : ?
. ~ === =] ||| e | . ~N =l I=Ill=l1=||||= . | . . ~
T e | . - — #4 SLAB DOWELS AT 18" 0.C.  _ e e e I R #4 SLAB DOWELS AT 18" 0.C. J ot ———— e o (4) #4 BARS VERT. "
'=ﬂﬁgﬁgm£ | J o 18" x 18", TYP. 5 '=ﬂm@m@m& | , J 2T e e T 5 ~ s w/ §4 TES AT DATE:  11/28/11
\ ) LT L * T B g e HER 108 No:_11-23
oL N ) DRAWN: WOH
CONT. CONC. FTG. w/ 2-#5 CONT. CONC. FTG. w/ 2-#5 : iy - -
- BARS CONT. TOP & BOTTOM 0" BARS CONT. TOP & BOTTOM CHECKED:  WJH
w/ #3 TIES AT 24" 0.C. w/ #3 TIES AT 24" 0.C.
— 15:: - 2:_0:: 2’_4" SCALE: NONE
BY 20" BY 2--8" SHEET
SEE DETALL #2 FOR OTHER SEE DETAIL #2 FOR OTHER 2-8" SQ.

INFORMATION NOT SHOWN
ON THIS DETAIL

INFORMATION NOT SHOWN
ON THIS DETAIL

S—4.1

UTILITY PIT AT DENTAL CHAIR 10 FOOTING AT POP-OUT 9 FOOTING AT POP-OUT 6

PAD FTG. AT FRONT COLUMN 3 oF

SHEETS




